G3-Mi-lesson 4

1. Fill in the blanks.

™

The chickens are arranged in ap- atray.

i know there are 12 chickens divided equally
into 3 groups since each row represents

1 equal group. Each group (row) has

4 chickens. So, the answer in my division
sentence, 4, represents the size of the group.

12 chickens are divided into __ 3 equal groups.
Thereare __ 4 chickens in each group.

12+3= 4

2. Grace has 16 markers. The picture shows how she placed them on her table. Write a division sentence
to represent how she equally grouped her markers.

There are 4 markers in each row.

f can write the
total number of
markers Grace
has, 16, since a
division equation equal groups

begins with the because the array

\t_ otal. / \:r:;’:;:i s of k4ceacl'\ row. /
_/

 The 4 represents
the number of

This 4 represents
the size of the
group. | know this
because the array
shows 4 markers in

equal groups. |
know there are 4
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